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(1)

Y Y = \ -
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Time: 2 Hours | o [ Total Marks: 50

Fill up strictly the details of e signs on your answer book

LI

Name of the Examination:
w |[F.Y.B.Sc. (Sem.-l)
Name of the Subject :

- LZooogy Paper-Z-102

N
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(2)  otn usl Rlbraq S,
(2)  All Questions are compulsory.
(3) s viet G W2 0.2 o swid,

(3)  For one wrong answer 0.25 marks will be deducted.

O.M.R. Sheet (R4 2i3lef] 21914eil Y1oi] 2074
O.M.R. Sheetil uiesn gi1iq 8,
Important instructions to fillup O.M.R. Sheet
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A5 oAl 2iE 19l 53] 97

De-Duve
Robert Hook

sivedl MSIR
51

Cell type
Function

218 G
stde

Robert Brown
Darwin

S HSAA AARLS

(A) ulR (B)
(C) Sladl onieof] (D)
Who discovered endoplasmic reticulum?

(A) Porter (B)
(C) Camilo Golgy D)
S Al AR . T U BUUR UV B,
(A) &ddugn (B)
(C) Rl (D)
The shape of cell depends on its

(A) Locomotion (B)
(C) Structure (D)
Alifcasiedl siie 51l 63 edl ?

(A) s[4l olleall (B)
(C) R g5 (D)
Who discovered Golgi body?

(A) Camilo Golgi (B)
(C) Robert Hook (D)
Rl adsHT S2a Ysrdid Gy 97

(A) 1 (B)
© 3 D)
How many hosts seen in ife cycle of Ascaris ?
Aa) 1 (B)
© 3 (D)
sl saai eeiqeidl adea. ... 9.
(A) MM AdgS (B)
(C)  «Milors aduts (D)

The formation of web by spider is
(A) Acquired behavior
(C) Social behavior

[2]

[afap adws

Innate behavior
Special behavior
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‘r (6)  Slubenedl 2@ sl6i 531 odl?

(A) S g5 (B) Rloidss

(C) UdalG (D) zlo

Who discovered nucleus of cell?
\ (A) Robert Hook (B) Robert Kook
‘i (C) Robert Brown (D) Robert

(N R K se g Sy 97

(A) 11 4l 94 cm (B) 294l ¥4 cm
(C©) vl 49y cem (D) 4u 4l 39 cm
What is the size of male Ascaris ?
(A) 11tol15cm (B) 21to4lcm
(C) 5t0l5cem (D) 15to31cm

(8)  stdell sBul uHIA il R2uellell g2 [amt oD 56 8,
(A)  selgaviol (B) 3+l Azl
(C) 4l vy (D) [alae »ia
Organs which are similar in function but different in structure are called
(A) Analogous organs (B) Homologous organs
(C) Vestigial organs (D) Special organs

| ‘( 9) 5y [&dlus alist »io 87

(A) oRin (B) MM

(C) ol oy (D) s ygu 8
Which is secondary lymphoid organ?

(A) Spleen (B) Thymus

(C) Bursa fabricius (D) None of these

(10) Uiz = el osdl 5 §7

- i
(A) uRYY ¢4 el (B)  usll »id Az {
(©) =AAuE 214 qys (D) He9dl] 2 U ;
Pertpatus is connecting link between ............. .
(A) Reptile and aves (B) Aves and mammals
(C) Arthropoda and annelida (D) Fish and mammals
)
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(1) 4 was afis > 97

(A) oRln (B) “MH

(©) o=l safban D) »ls ugL «ild

Which is primary lymphoid organ?

(A) Spleen (B) Thymus

(C) Bursa fabricius (D) None of these
(12) AW, e 9.

(A) olel wRiugwdl (B) ¥sdwpdl

(C) el (D) wldiuriuedl

ASCaris 1S ..ovcveecreennnn :

(A) ecto parasite (B) free living

(C) commansals (D) endoparasite
(13) iRl wi il sigL il 97

(A) R (B) HIEL

(C) ol (D) s uQL «dl

Who builds the nest in weaverbird?

(A) Male (B) Female

(C) Both (D) None of these
(14)  Hefrani )y 2eifid 2oL s 97

(A) Bl (B) 4G [iegiH

(C) UMl M) w5 wel «dl

Which is behavioral disorder of human?

(A) Alzeimer (B) Down Syndrome

(C) Dwarfness (D) None of these
(15)  Bieloresll 2auidl vids oASIQL 22U HRI4 B, o7 —=---- 56 9.

(A) wileivy (B) &y

(C) AR (D) 2eH A4

Many combining areas are present on the surface of antigen are known as ......... .

(A) Epitopes (B) Haptens

(C) Receptors (D) stemcell

g
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(A) weHal o 5% (B) U™ <l Adlsin

() aulld &% (D)  »is W «d]

The biggest cell in animal kingdom is
\ (A) Egg of ostrich (B) Nerve cell of human
(C) Egg of elephant (D) None of these

(17)  «ll=ltmidl Y5RuIBssIM  Geisol s <4l ?

(A) olselRut (B) MW
(C) il (D)  Hud]
Which is not an example of eukaryotic cell?

(A) Bacteria (B) Human
(C) Monkey (D) Fishes

(18) el <t asHi il &) ual] o 97

(A) Rl (B) 4zl

() P8l ) IREEN
Which bird builds their nest in the crevice of wood trunk?
(A} Weaver bird (B) Horn bill
(C) Crow (D) Tailor bird

(19)  AHRIRU viw d] otdd] 7

)

(A) sylesa B) 5154
(C) dAeydin (D) Al
Bat's wing is made up of
(A) Cuticle (B) Chitin
(C) Cellulose (D) Skin F'
(20)  MSllRAIHL g WS ... oz 8,
(A) @l (B) sl F
(C)  AMibH D) URisHlxu |
Which is helpful for locomotion in animals? |
(A) Vacuole (B) Flagella
(C) Lysosome (D) eroxisome
3
| £
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(22)

(23)

(24)

(25)
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desdl HIoU sd1 gl Hi oAqL WAl 8 ?

(A) sl (B)
(C) =dldistl (D)
Which bird has pendant type nest?

(A) Sparrow (B)
(C) Hornbill (D)
Sl ABAYR Lo 8.

(A)  sQuUSYA (B)
(C) siMbeg (D)
The powerhouse of a cell is

(A) Mitochondria (B)
{C) Nucleus (D)

Heppued] serugtedl el

(A)  sifuga ol

(C) [l

Wisdom tooth of human is an example of
(A) Analogous organs

(D)

(B)

(C) Special organs (D)

Yo He Pl dlst sivl suig] Geus w7

(A) oRig (B)
(C) stssl (D)
Lymph cells are produced from ......................
(A) Spleen (B)
(C) Tonsils (D)
el o sl g 97

(A) U2l Hsdnw (B)
(C) Gexdus [Rulg (D)
What is the function of vacuoles ?

(A) Protein synthesis (B)
(C) Enzyme formation (D)

[6]

4 GEl6QL 89,

wy2
yaid]

Parrot
Weaver bird
AlARALAIH
oliodin
Lysosome
Ribosome
2llgs viol|

981w 2o

Homologous organs

Vestigial organs

UMY
Y Ay

in adult human ?

Thymus
stem cell

siufdeysyd
oy ey

Cell division
Osmoregulation
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(26) el 9012 $IN [@Asitor< g5 <8l ?

(A) dRBes | (B) draliniiy
(C)  siN3eg (D) el
M Cell division is not possible without ............... :
' (A) Centrioles (B) Lysosome
(C) Nucleus (D) Ribosome

@7) ysshail el 58 2llst wend 7

(A) olileusiy (B)  id siwzusng

(C)  sUGRYA (D) <AolitiH

Which organelle makes head of sperm?

(A) Golgi body (B) Endoplasmic reticulum
(C) Mitochondria (D) Ribosome

(28) s A S U5 B 7 |

(A) oa=s (B) »lonRs
(€) o (A) (B) D) 5wl
Respiration of Ascaris is
(A) Aerobic (B) Anaerobic
i (C) Both (A) & (B) (D) None |
‘ (29)  uaHidl douss Yodl Qiu 7 H
(A) U ¢l 20 Wifsie (B) 140 Wifsid
(C) 120 Wsiq D) ¢ dl 10 NS5 |
How long cilia is? a
(A) 5to 10 Micron (B) 150 micron c
H (C) 120 Micron (D) 8to 10 Micro

=3

(30) 58 Ursiscini wielolidle] Geuted ud «efl?

(A)  &Rd URsRsAl ®B)  sivflu uRisisar

(©)  gerdl ulasrsal (D) s gl «d]

In which type of Immunity Antibody are not produced:

(A) Humoral Immunity (B) Cell-Mediated Immunity
(C) Innate Immunity (D) None of these

d‘r

PYuu /v
P0070
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(A) Al _

(32)

(33)

(34)

(35)

(C) s152q

Insect wing is made up of:

(A) Skin
(C) Chitin

OYARHL Y [E1p 22y
(A) il
(©)  isaledl

An example of vestigial organs found in
(A) Mammary gland

(C) Oviduct

Hefbal edldeinioll s QR i) 48] ?

(A) 53U stz
(C) setugil g1z

(B) sylesq

(D)
(B)
(D)

(B)
(D)

2leyelios
Cuticle

Cellulose

53y wiisiyas
AN [Fider Aug)

Python is :

(B)
(D)

(B)
(D)

Which is not vestigial structure in human?
(A) Vermiform appendix

(C) Wisdom teeth

(B)
(D)

Vermiform appendix
Vestigial pelvic girdle

wlhalzise
dldn das1y

Epiglottis
Third eyelid

edordiedl Riegi su1 Jaufis gpz) 2NN B ?

(A) ¥4~ )
(O HAesd

Which scientist give the law of atavism

(A) M-Dollo
(C) Mendal

PAEHISHR 2L $UL ot 1) dsndg 7

(A)  Adida
(C)  USYeleldn

Elzimer disease is relatedto ... .

(A) Nervous system

(C) Reproductive System

RAN-1803000201030052-A ]
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(B)
(D)

(B)
(D)

(B)
(D)

g-4ld)
dled- ojgd]o

Von - Behring

9wl
2[6R1F22914

Respiratory system
Circulatory system
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(36)  ulrel sitini silly UlAsRSAL Tl Slul sut 7

(A) B - sl (B) T - sini
(C) D - sl (D) R- sl
Which cells are responsible for inducing cell mediated immunity in the body?
(A) B-Cells (B) T-Cells
(C) D-Cells (D) R-Cells
(37 2laeRs il sdsd] s 87 _
(A)  ARYY 214 e B) el 2id A
(C) ABwE ud qyrs (D)  Hd] 21 Hadd
Archaeopteryx is a connecting link between
(A) Reptile and aves (B) Aves and mammals
(C) Arthropoda and annelida (D) Fish and mammals
(38)  Hiel sy [eqmi Hedu B2al o1y & ?
(A) 2,00,000 (B) 2000
(C) 2,140,000 (D) 14,000
A female Ascaris may lay maximum eggs in a day are
(A) 2,00,000 (B) 2000
(C) 2,50,000 (D) 15,000
(39) ¢ »iBist wicnaud] sigoll aly onelldl 7
(A) olleasr (B) ARy
(C)  SQUSIYA (D) olixiu
Which organelle is known as suicide bag?
(A) Golgi body (B) Lysosome
(C) Mitochondria (D) Ribosome
(40) sl dons’ sodl iy 87
(A) u &l 10 Wsid (B) 1U0 HIH5l
(C) 120 HiSsiA (D) ¢ 4l 10 W5l
How long flagella is?
(A) 5to 10 Micron (B) 150 micron
(C) 120 Micron (D) 8to 10 Micron
RAN-1803000201030052-A ] [9]
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s (41) el B st 3o du 87 '

(A) 114l 1u cm (B) 204l ¥0cm
(C) usdl4ucm (D) v ¥l 39 cm
What is the size of female Ascaris ?

(A) lltol5cem (B) 20to40cm
(€C) 5tol15cm (D) 15t031cem

i (42)  adleet sl epiRe RRASRSAL T S sup 57

(A) B - il (B) T - il
(C) D - s (D) R - sl
‘L Which cells are responsible for inducing humoral immunity in the body?
' (A) B-Cells (B) T-Cells
(C) D-Cells (D) R-Cells
(43)  siuell otel) o Buriie sl gl grl 2y, 52
(A) dRBes (B)  ardlosly
(C) sl¥deg (D) {lotixniu
All the activities of cell is control by
(A) Centrioles (B) Lysosome
(C) Nucleus (D) Ribosome

(44 dlRamiel 5 2iBist Wlad 2 53 7

| (A)  dRAAIH (B) elinin
| (©) Sivkes: D) dRbes
Which organnels synthesized protein :
(A) Lysosome (B) Ribosome
(C) Nucleus (D) Centriole

(45) Rl Yo 3ear 2 yz1q 97

(A) 1 (B) 2
| © 3 ©) ¥
Mouth of Ascaris is guarded by how many lips?
| (A) 1 (B) 2
, C) 3 D) 4

roQ70
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(46)  ulasRs sl « dlfEn Jeg 54 97

| (A) ozla _ (B) urayy
| (C) slssl | (D) 24 ¥4
4 Which is the training centre of Immune cells ?
(A) Spleen (B) Thymus
(C) Tonsils (D) stem cell

(47) sy sles wilrs 97

(A) HaHnAl | (B) udbu
©) dls (D) d€l
Which is the social insect ?

(A) Honey bees (B) Butterfly
(C) Grasshopper (D) Cockroach

(48) U el AUl aRieoL 28R il 418 B,

(A) o B) w0

(C)= 1l : (D) co

Man has about ................ vestigial structures in his body :
(A) 50 (B) 120

(C) 85 (D) 90

(49)  shNAUE AR aulqs

(A) ulsesy (B) R&dq-24ld

(C) dq (D) 2o G

Cell theory was given by i

(A) Purkinje (B) schleidend - Schwann e

(C) Plove (D) Robert brown

1

(50)  Slasell, uailedl 2t 2mRlloaned wive ................... o GEleRRL 59, "

A)  siduga »iil (B) R3<iga »ion

(C) [afapeion (D)  2xAalap >

Wings of insect, bird and bat are an example of .............. .

(A) Analogous organs (B) Homologous organs

(C) Special organs (D) Vestigial organs

P0070
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ENGLISH VERSION

Instructions:

(1) Question no. 1 is compulsory.

(2} Draw labeled diagrams wherever necessary.

(3) Figure to the right indicate full marks of the question.

@
(1)
2
(3)
4

(b)
(D
()

Do as directed:

State the function of coelomic fluid
What is Assimilation?

Define: Biotechnology

Define: Nutrition

Answer briefly:
Mention the location, structure and function of Blood gland
For prevention of which diseases, BCG vaccine is used?

Explain the Digestive system and digestion in earthworm.
OR
Describe the Reproductive system of earthworm.

RAN-1903000202030051 | [2]




(1)
)

(D
@

(1)
)

(1)
2

RAN-1903000202030051 ]

T RN T

Describe:
Care of egg laying hen
AIDS
OR
Describe:
Types of Asexual reproduction
Poultry excrete as 2 manure

Write notes on:
Application of Recombinant DNA Technique
Maximov's tissue culture method

OR
Write notes on:
Digestion in small intestine
Sense organ of earthworm
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Y3A«ll : / Instructions
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Name of the Examination: r —
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Name of the Subject :
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(2) oz svqua el wleiaand] 2usf 29,

(3) orusll clioyl wis usetell Y1 201 cald B,

1T (21) vl v 4
(1) wivadla

() ddfd 2uer

(3) idsas

(¥) [Qvige |
() 25l Gl 2l 4
(1) il il 2z salfil svgual,

(2) B2l B2 o il 2204 svgudl,

2 Getsl a1l ad sivld uruzud iAo ulzdr qufdl 14
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angfdl :

ey wi2d 97 d«ll <9l Adledi 510 srgual

AlAdiedl 21211
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ENGLISH VERSION

Instructions:

(1) Question no. 1 is compulsory.

(2) Draw labeled diagrams wherever necessary.

(3) TFigure to the right indicates full marks of the question.

1. (a)
(1)
2)
3)
4)

(b)
(D)
@

Define:
Parasitism
Balance diet
Adaptation
Cleavage

Answer in Brief:
Mention four species of pearl oyster
Mention the source of Vitamin B

RAN-1903000202030052 | [2]




2.
2
(2)
(b)
3
3
(a)
(b)
4
(a)
(b)
4
(a)
(b)

RAN-1903000202030052 | 3] [1920 ]
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Describe in detail the control of metabolism in cell by Enzyme, 14
_ OR

Describe : 14

What is wildlife? Mention the causes for its depletion.

Importance of protein.

Describe the parasitic adaptations of Tenia solium and its control 14
measure and treatment.

OR
Describe: OENC
Bombay duck fisheries 4
Water soluble Vitamins {x LI SRARY :g;ﬁ}

Write notes : NS 4 d, o/ 14 |

Nalsovar birds sanctuary

Desert adaptations |
OR

Write notes : 14

Wildlife protection Act

Volant adaptations
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